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QUESTION 1

Which VRFs must be configured on the ASBRs between the two AS\\'es in an Option B Layer-3 VPN solution?
A. The VRFs shared between the two AS\\'es plus one VRF representing each AS.

B. The VRFs shared between the two AS\\'es.

C. The VRFs shared between the two AS\\'es plus one shared VRF.

D. The VRFs do not need to be configured on the ASBRs.

Correct Answer: B

QUESTION 2

Which command is used to undo a change after issuing a commit command?
A. router# rollback configuration to -1

B. router(config# commit undo

C. router(config)# commit rollback

D. router# rollback configuration last 1

Correct Answer: D

QUESTION 3

One of your peers show in the SHOW BGP VPNV4 UNICAST SUMMARY output What is the cause of this?
A. The label value ranges are mismatched.

B. The peer has no prefixes with a Route-Target that the local router is importing.

C. The BGP prefixes between the routers have not fully converged and will correct itself in time.

D. The peer router is not configured to use the VPNv4 address-family for this connection.

Correct Answer: D

QUESTION 4
How many times are Layer 3 lookups performed on a packet transiting a CRS or ASR9k router?
A. Three times: in the ingress linecard, the fabric, and the egress linecard

B. Once: in the active RP/RSP
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C. Once: in the ingress linecard
D. Twice: in the ingress linecard and again in the egress linecard

Correct Answer: A

QUESTION 5

How do you verify the label(s) used between the ASBRs in Option A Inter-AS L3VPN operation?
A. There are no labels used between the ASBRs

B. Verify the labels assigned by MP-BGP in the SHOW BGP VPNV4 UNICAST

C. Verify the labels assigned by MP-BGP in the SHOW CEF VRF output

D. Verify the labels assigned by LDP in the output of SHOW MPLS FORWARDING

Correct Answer: A
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